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- H£FEE 593,113 70,412 32,255 20,880 18,210 17,180 16,468 15,233 14,840 13,396 12,265
NS TR AR 3,277 19,815 6,684 159,136 165,917 154,227 149,723 99,527 99,184 87,344 91,014
EHRE 596,390 90,227 38,939 180,016 184,127 171,407 166,191 114,760 114,024 100,740 103,279
=z JHEE 596,356 90,201 38,788 178,260 183,291 170,791 165,670 114,318 113,564 100,289 103,007
mEE RHE 34 26 151 1,756 336 616 521 442 460 451 272
GE) 1.1k, MRED. B KT
2. - BEIFEFLITIFHEERLED.
RIR
700,000
600,000 —
500,000
400,000
300,000
WHE
200,000 MAE =
100,000 fEE HE=E m m
o LW [l e i In
S40 S50 S60 H26 H27 H28 H29 H30 R1 R2 R3
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SO _HEERNMIBDHEFRE  (BF40FE~SF34E)

(M/kg)
IE H S40 S50 S60 H26 H27 H28 H29 H30 R1 R2 R3
EARAY b 2,056 3,381 4,237 2,079 3,521 4,042 3,736 2,948 1,958 1,863 2,251 it
ELLV=ITF - 850 1,114 1,024 1,031 1,052 1,048 968 949 955 907
THZ 667 762 689 401 425 457 455 452 435 422 402
ADE=IT - 589 610 250 260 235 204 219 207 251 224
[03=Y /<l b3 518 765 795 404 495 530 686 614 664 704 677 s¥23
SELHL - - - 449 443 421 419 439 433 453 400
EJAYilba - - - 684 648 722 762 912 943 859 727
Ty X - - - 509 477 513 539 542 549 538 477
E3I®Y b 1,591 8,413 15,076 30,609 26,243 22,467 66,607 35,351 58,553 21,652 40,287
GE) 182U UM = (FIF L Bf#E T, S40,50,604F (455 - 5% @ - M5 - KBR, 2.54050,60FE DV S=ITERELOHEMNEENRTINS. ERH:RET
H26FE LI IR R, B3 D& 50 EFHMEDHRELY. 3B {TER T A E Tl AE.
FEZLULM= T S Ol & (L R R B R ENFE 350 & F 1 {f4E.)
(F/ke) LU =IT (M/ke) HELULV=IT
6,000 1,500
L L 2 *
o : /\\’/’ e . — ",
2000 ¢ 500
0 1 1 1 1 1 1 i i 1 1 Il 0 e 1 1 1 1 i Il Il Il Il i i
S40 S50 S60 H26 H27 H28 H29 H30 R1 R2 R3 S40 S50 S60 H26 H27 H28 H29 H30 R1 R2 R3
1(33@ HHT (F1/ke) ZDEF=IT
Y800 | . 1,000
* L 4 800 |
600 r 600 | o o
400 T ._,Q—H—Q—O—Q—Q_. 400 |
200 200 | k‘**.-.—’—‘/’ﬂ
0 : : : : : : L : : : L 0 1 1 1 1 1 1 1 1 1 1 1
S40 S50 560 H26 H27 H28 H29 H30 R1 R2 R3 S40 S50 S60 H26 H27 H28 H29 H30 R1 R2 R3
(M /ke) Uixt=Ilt (M /kg) ALl
1,000 1,000
800 ¢ ¢ 800
600 W 600 |
400 | 400 | S ————0—"
200 | 200
S40 S50 S60 H26 H27 H28 H29 H30 R1 R2 R3 S40 S50 S60 H26 H27 H28 H29 H30 R1 R2 R3
(F/ke) EAAY=ibE (F/ke) Ty X
1,000 1,000
800 ‘\‘/’/‘/‘”\0\ 800
600 600 — ————__
400 400
200 200
0 1 L 1 L 1 L 1 1 1 1 Il 0 1 1 Il I I I Il 1 1 Il I
S40 S50 S60 H26 H27 H28 H29 H30 R1 R2 RS3 S40 S50 S60 H26 H27 H28 H29 H30 R1 R2 RS3
(F/ke) E3edbs
80,000
60,000 r
40,000 r
20,000 r
! *
0 $ . 1 1 1 1 L L 1 1 1 1
S40 S50 S60 H26 H27 H28 H29 H30 R1 R2 RS3
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SO DRERAMEDERNMEDOHER E@ios~ e

IEH BfiL S40 S50 S60 H26 H27 H28 H29 H30 R1 R2 R3
=+  HA/ke 41 82 134 195 191 191 256 203 244 201 188 & EE MRS
. RGP REGERS
HIUv M/kg 1,153 4,476 7,199 7,353 6,502 5,967 6,192 8,946 7,231 5,710 5,952 F T EEGEE)
$55L M/kg 4,760 24,650 26,330 47,520 51,156 52,043 52,063 55,530 56,995 56,995 57,032 HEEFLEEE
¥ EEy B/ER 353 1,950 2,133 1,608 1,608 1,608 3,821 3,300 3,400 3,400 3,400 ENFEAME
" M MH/m?® 29,867 110,460 85,000 80,000 80,000 80,000 80,000 80,000 80,000 80,000 80,000 =#{HEH
ANk (Bx) H/ke 27 92 128 184 185 176 176 179 208 208 208 HEHEEREE
BEH - MET
(F/ke) fzITd (F/ke) Hsy
300 10,000
250 | H_M 8,000 ‘\‘\’—_/\’\_‘
L ' -
fgg | 6,000
100 L g 4,000 .
'S
50 o 2,000
0 L 0 L
S40 S50 S60 H26 H27 H28 H29 H30 R1 R2 R3 S40 S50 S60 H26 H27 H28 H29 H30 R1 R2 R3
(F/ke) £55%L (M/%0) Kkt
60,000 ‘/‘__,_,/0—“—’—‘ 5,000
50,000 | 4,000
40,000
30,000 . 3,000
20,000 ¢ 2,000 * ¢
B R o o | -
S40 S50 S60 H26 H27 H28 H29 H30 R1 R2 R3 S40 S50 S60 H26 H27 H28 H29 H30 R1 R2 R3
(A/m?3) &+ (M/kg) Kig
120,000 . 250
100,000 | 200 *—‘\o—v—/_‘_‘
80,000 ¢ S SEED D VD WD WD S 150
60,000 T 'S
40000 | 100 .
20,000 50
0 L L L L L L L L L L L 0 1 1 1 L L L L L L L
S40 S50 S60 H26 H27 H28 H29 H30 R1 R2 R3 S40 S50 S60 H26 H27 H28 H29 H30 R1 R2 R3
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